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Run 5274 quartetwise, PosHelAccO/NSamplas0

=== Laser O -—

Entrie=: 62509
Mean: 14.5220 «/- 0U0DD23
Sid Dhey: 0.564% o~ D006

=== Lager OFF ---
Entrie=: 55963
Mean: 1.7519 «- 0.0010
Sid Dhey: 0.X355 - 00007

Run 5274 quartetwize, Diffs)

=== Laser O -—

Entries: 62509
Mean: -0.EB2E3 & - Q002D
Sid Dhey: 04944 - 00074

=== Laser OFF ---
Eniries: 55963
Mean: 0.000T +- 0.0012
Sid Dey: 02765 +~ 00008

wo—

Run 5274 quartetwize, Asyms(

=== Laser ON -—
Entries: 62509
Mean: -31.2274 +/- 0.0760
Sid Dev: 18,7519 4/~ (LDG30

=== Laser OFF ---
Entries: 55963
Mean: 00248 +- 0.0443
Sid Dev: 104873 &/~ L0313
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Run 5274 quartetwize, NegHalAcc/NSamplas0

=== Laser O -—-

Enlrie=: 62509
Mean: 15,3453 /- 00024
Sid Dhey: 0.5920 & 00017

=== Lager OFF ---
Enlrie=: 55963
Mean: 1.7613 «/- 0.0010
Sid Deyv: 023456 - 00007

o] .

4 & | 0

Run 5274 quartetwise, Sums0
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B

=== Laser O -—-

Enlries: 62509
Mean: 290673 & 000042
Sid Dev: 10457 & 0.00%0

== Laser OFF ---
Entries: 56963
Mean: 35032 «- 0.0016
Sid Dewv: 03807 +- 0.0011
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Run 5274 quartetwize, PosHalAccd

— Lasar O —

Enlni: B2205

Masn: 114TES45TE & S350 5008
22 Dwre: TRETTE] S04 - 41 5274

Run 5274 quartetwize, NegHalAccd

— Lassar OFF —
Erln: 351
Masn: TEOOISA 377 &0 171186
Sd Dre: 2TF1EFESGES - Bl HEH

l o v v sy =10

Run 5274 quartetwise, Diffs4

— Ly 0% —

Erlnes: B1506

Magn: SIMEEC4 4S04 - ETIE 2178
25 Dwre: TETERE J2ES 1 47 ITED

— Lussar OFF —
Erlnen: 3301
Main: RO D82« 17417858
Sd Dwre: 27O SE D489 +/- BT JEID

— Lasar O —
Cnlni: S250F
Maan: 2HE0F1D 840 «- 3150715
S (Onire: VISEI00E. V140 & JTB 2T

Run 5274 quartetwise, Sums4

— L OFF —
Crln: 338
Maan: TISRB0E +~ T8IT.I7IT
S0d Dre: JEORME SIE2 +- T1IESE4E

SOTTI
=

Run 5274 quartetwize, Asyms4

[ r——rt

— Ly 0% —
Crlnes: B150F
Mann: B4ESIR 5060 +- 11128 EIEE
Sod Dwre: 2EET4TY 2609 =i G402 25T

— Lumar OFF —
Crlnia: 33597
Miaan: HIEEDT 2225 «- L4
S0 [Dnire: JEETFT.ONTE +- 11343326

=== Laser ON -—
Entries: 62509
Mean: -31.60534 +/- 0.06549
Sid Dev: 164690 +/- (OGS

=== Laser OFF ---
Entries: 55963
Mean: 00088 +- 0.0198
Sid Dey: 4.680% +~ 00140
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Run 5274 quartetwize, Asyms LSbgl

=== Laser O -—
Entrie=: 62509
Mean: 00002 +- 00018
St Dhey: 0A47E o~ 00073

=== Lager OFF ---
Entrie=: 55963
Mean: -0.0038 «- 00019
Sid Dhey: 04506 +~ 00073

_al LIS

Run 5274 quartetwize, Asyms DSbgl

e e |

=== Laser O -—

Entries: 62509
Mean: -0.00053 «/- 0U00D0E
Sbd Deyv: BL1312 &8 0.0004

=== Laser OFF ---
Eniries: 55963
Mean: 00002 +- 0.0006
Sid Dey: 001324 - 00004

Run 5274 quartetwise, Asyms Horiz Finger

bl

=== Laser ON -—

Entries: 62509
Mean: -0.0070 «- 000014
Sid Dey: 03413 =~ 00070

=== Laser OFF ---
Entries: 55963
Mean: -0.0008 «/- 00021
Sid Drey: 05018 -~ 00015
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Run 5274 quartetwize, Asyms UShg2

=== Laser O -—-
Enlrie=: 62509
Mean: L0009 «/- 0.0012
Sid Dhev: 03012 & 000G

=== Lager OFF ---
Enlrie=: 55963
Mean: -0.0000 «- 00013
Sid Dheyv: 0L303T &b 00009

L '; Hmﬂﬂww

Run 5274 quartetwise, Asyms DSbg2

[

ﬁ%nﬁnﬂm .

1

=== Laser O -—-
Enlries: 62509
Mean: 00001 «- 0.0005
Sid Dev: 01189 & 0003

== Laser OFF ---
Entries: 56963
Mean: -0.0010 «/- 000)E
Sid Dev: 01180 &~ 00004

=

Run 5274 quartetwize, Asyms Vert Finger

=== Laser O -—-

Entries: 62509
Mean: -0.0051 «/- 00011
Sid Dev: 02671 & 00000

== Laser OFF ---
Enlries: 55963
Mean: -0.0011 «- 00016
Sid Dhev: 03530 &~ 0.00711
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Run 5274 quartetwize, posHE vs time
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Run 5274 quartetwize, diffl ve time
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Run 5274 gquartetwize, negHO vs time
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Run 5274 gquartetwize, summi vs time
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Run 5274 quartetwise, posH4 vs time
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Run 5274 quartetwize, posH4 vs time Run 5274 gquartetwize, negH4 vs time
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Run 5274 gquartetwize, USbg2 ve time

Run 5274 quartetwize, USbg1 ve time
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Run 5274 quartetwize, DSbg2 ve time

Run 5274 quartetwize, DSbg1 ve time
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Run 5274 quanetwize, horizFing vs tima

Run 5274 quaretwizse, variFing vs timea
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